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Name:_________________
Practice Midterm – Learning Assessment

These questions are drawn from concepts presented in class in Lectures 1-7 and in your textbook reading assignments.

1. A map is the only way to visualize the results of a geographic analysis.

True

False

2. The vector data structure represents features using grid of cells.

True

False

3. Define “mixed” pixel – 
4. Define topology – 
5. Why is the determination of topology critical for GIS?

Making the software run faster

Performing spatial analyses

Building map symbology

Unzipping zip files
6. Which definition of interpolation is correct?

Outputs data to an external file in a supported format.
Performs arithmetic or logical operations on all, or selected records in the active field of a table.

Predicts values for a surface from a limited number of data points.

Displays the attributes of features on a view by clicking on them with the mouse.
7. Characteristics of a GIS that distinguish it from other kinds of computerized systems include:

A GIS provides algorithms for spatial analysis of georeferenced data 

A GIS has "spatial intelligence"  (i.e., GIS treats points, lines, areas, etc. as actual spots on the earth)

A GIS provides links between geographic locations and, within a database, their accompanying attributes 

All of the above

8. "Research on the fundamental nature of space, as well as the generic issues that surround the use of GIS technology, impede its implementation, or emerge from an understanding of its capabilities" is called:

A data model.

A data structure.

Object Oriented.

Geographic information systems.

Geographic information science.
9. Benton County is planning a new park in north Corvallis.  You are hired as a planner to identify possible sites for this future park in an area that is experiencing population growth while also trying to preserve the prime agricultural land of the county.  You are given the following guidelines.  The park must be:

1) Within 16 kilometers of a city population greater than 20,000.

2) On land that is not zoned as Agricultural, Industrial, Commercial or Conservation.

3) On land that is currently Vacant.

4) On land that does not contain an endangered species.

5) On slopes greater than 2.5% (to provide topographic relief for hiking trails as well as scenic beauty). 

6) On land that is accessible from an existing road.

And finally the park must be at least 40 hectares (100 acres) in size.

Write down what data sets (data layers, data themes) are likely to be needed for such a project and whether they should be vector or raster. Indicate also if the data set would be considered a FRAMEWORK data set according to our class discussions about spatial data infrastructure.
10. Go back to your syllabus and write down which of the Learning Outcomes this practice test touches on.

Topology Questions – “Thinking Like a GIS”

Oftentimes you will have to work with ESRI "coverage" and “geodatabase” data structures as you use ArcGIS 9.x (they are based on what ESRI calls the “coverage” and “geodatabase” data models, variations on the general object data model). ArcGIS uses a specific format to calculate and store spatial relationships. This exercise tests your understanding of how ArcGIS stores this spatial information, and hence establishes topology.

Lines are stored as arcs. Each arc starts and stops at a node. Because the arc starts and stops at a node, the arc has direction, defined by which node is the from node (FNODE) and which node is the to node (TONODE). Consider the following sketch of arc-node topology, and fill out the table that follows (nodes are indicated by boxed numbers, arcs by unboxed numbers).
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Arcs form the boundaries of polygons. The topology of a polygon coverage contains both an ID# for each arc and the identification of the polygon bounded on the right (RPOLY) and left (LPOLY) of the arc. Consider the following sketch of polygon-arc topology, and fill out the table that follows (polygons are indicated by boxed numbers, arcs by unboxed numbers). 
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Also, consider arc ID#1. How does this arc turn two corners without have nodes at these corners?? __________________
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	# of ARCS
	ARCS
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	Right POLY
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